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เฉลยแบบฝกหัด 8.1 
 

ขอ ( )a  ( )b  ( )c  ( )d  ( )e  ( )f  ( )g  ( )h  
1. (0,0) จํานวนจริง

ใดๆ 
ไมมี (0, )∞  ( , 0)−∞  (0, 0)  ไมมี ไมมี 

2. ( 1, 4)− −  
และ 

( 3, 0)−  

( , 3)

( 1, )

−∞ − ∪

− ∞
 ( 3, 1)− −  ( 2, )− ∞  ( , 2)−∞ −  ( 2, 2)− −  ( 3, 0)−  ( 1, 4)− −

3. (1, 5)−  
และ 

(5,27)  

(1,5)  ( ,1)

(5, )

−∞ ∪

∞
 ( , 3)−∞  (3, )∞  (3,11)  (5,27)  (1, 5)−  

4. (0, 0)  และ 
( 2,16)±  

( , 2)

(0,2)

−∞ − ∪  ( 2, 0)

(2, )

− ∪

∞
 2 2

( , )
3 3

−  2
( , )

3
2

( , )
3

−∞ − ∪

∞

 

2 80
( , )

93
−  ( 2,16)±  (0, 0)  

5. (0, 0)  และ 
( 3, 27)− −  

( 3, )− ∞  ( , 3)−∞ −  ( , 2)

(0, )

−∞ − ∪

∞
( 2, 0)−  (0, 0)  และ 

( 2, 16)− −  
ไมมี ( 3, 27)− −  

6. 1 27
( , )

2 16
− −

 
และ 

( 2, 0)−  

1
( , )

2
− ∞  1

( , )
2

−∞ −  ( , 2)

( 1, )

−∞ − ∪

− ∞
( 2, 1)− −  ( 2, 0)−  ไมมี 1 27

( , )
2 16

− −

 

7. (0,1)  และ 
(1, 2)−  

( , 0)

(1, )

−∞ ∪

∞
 (0,1)  

3

1
( , )

4
∞  

3

1
( , )

4
−∞  

3

1
4

x =  (0,1)  (1, 2)−  

8. (0, 0) , 
(2,64)  
และ 

( 2, 64)− −  

( 2,2)−  ( , 2)

(2, )

−∞ − ∪

∞

 

( , 2)

(0, 2)

−∞ − ∪

 

( 2, 0)

( 2, )

− ∪

∞
 (0, 0)  และ 

( 2, 28 2)± ±

 

(2,64)  ( 2, 64)− −

 
 

กราฟในแตละขอจะแสดงใหเห็นดานลาง 
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